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Problems

1. Using simplex method solve the following linear programming problems

e 211 — x5 — mazx, with constraints:
41‘1 + 41‘2 < 12,
T < 2,1[,’2 < 27
z1 20, 20 > 0.

e 3z — 2y — max, with constraints
—3x+2y > 8,
z—y <0,
x>0,y >0.

e 8x + u — max, with constraints:
2z + 4y + 8u = 10,
y+z—u=3,
t+ 6u =12,

z,Y, 2, t,u = 0.

Homework

1. Solve the following linear programming problems using simplex method

e 4a + 3b — 4¢c — max, with constraints:
2a 4+ b —2¢c < 18,
a+b—c<13,
a—2c < 13,
a,b,c> 0.

e 4a + 3b+ e — min, with constraints
3a—3b+d—3e=3,
—da—2b—2c+2d =1,
a,b,c,d,e > 0.



